SPL\'JCS o«€ a«l'&'»sé '€'<f 10+ are ‘Dacked

. 3
lh.t'o o C,UGO.\A 40 X L0 x2.0 o

HOL., "‘“Q"la .—F'{é ;vx) Cenn A how M.uc_L S'rac( s anl'zs

NU‘"—A@ o+ Sf(\a.ra; 4 < 4 xR 2 = Z<|'—-

ﬁ-h/«l—j Spac= = \/ol ot cobod — Vol fFZ‘\—S‘fl&/-q

3
-~ 40rk30¥28 — 24 24T x¢
K

2406006 — [25 (6

—
—

3
Il 4 34 cw

W Lﬁ. k f<r¢enr("ﬁ.34 c)’é t'La LULDU’( S/GLZ
”4’34X100 o 4.7(%
24000

ES(C.(C..IS-L

D Hou Mau\.s C_ugc;lu(s ch\ X éc»a X f—cu\
Cou‘A '6('{- ;:-\ & Coéoz.x AO'X IGCK X R0cn X [Rem

How \«-\uc.(\ wwg{‘c./( wa.ce?



Lx 2x3 = IC€
Z N o \m_s'ée/( $fac-e

Cleds  yof of  loog
3
o 16«30 x (X = Q406 e
S

Vol o codbells = G « € x (<S ’-‘8640(.._3

1.6 m

5 The diagram shows
the dimensions of a 0 ¢
flowerbed in Yusuf’s
garden.
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a Yusuf says that
2

12 metres of | ' o
edging will be enough to go around the s T

flowerbed. Is Yusuf correct? Show
your working.

b Yusuf also wants to buy fertiliser to feed — f.,i-cle—
the flowers six times in the summer. He = 5 ¢.c(.0+2-0450
uses 35 grams per square metre each 2 1LY e

time. Is a 2 kilogram bag of fertiliser
enough? Explain your answer
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1 A circular helipad (for landing a helicopter)

has a radius of 14 m. The cost of building
the helipad is £85 per square metre.
Is £50000 enough? Explain your answer.

2 A flowerbed in the park is semicircular.

It has a radius of 2m.

Percy the park keeper wants to plant flowers
that each need an area of 0.3 m’

a How many of these flowers can Percy
plant in the flowerbed?

b What space does he have left?
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